\ .
f(x)=a~x3 +bx+ ox + d d_<a-x3 F b+ o+ d, vereinfachen - 3ax®+ 2bx+c

dx

2 3 . 2 .
—— aX +bx"+cx+dveenfachen = 6-ax+ 2b

dx2

123.a+ 12%b+ 12.c + d=140

72-a+ 2-b=0

=0 lineares Gleichungssystem

3-24%.a+ 24-2:b + c=0

123.a+ 12%b + 12:0 + d=140
72-a+ 2:b=0 auflésen,b - -36-a

3-24%.a+ 24-2.0 + 0=0

123.a+ 12%b + 120 + d=140 ersetzen,b=-36-a - -3456-a+ d=140

3-24%.a+ 24-0-2 + 0=0 ersetzen,b=-36-a - 1
a=-1 Warum 2?77?7777

-3456-a+ d=140 ersetzen,a=-1 - 3456 + d=140 3456 + d=140 auflésen,d - -3316

d=-3316 b=-36 f(X) = -X° + 36X - 3316
4000
2000+ Keine gute
Losung!!!it!
) 15 %0 Warum?
~20007 Was ist hier
passiert?

—4000-



Korrekturen:

c=0 Verschiebung nach oben

f(X) = -x>+ 36x° - 33160 f(24) =6.912-10°

3
6.912:10 _ 24.68571 Stauchung

F(x) = — = [-x3+ 36.%% - 33160,
2468571

Kontrolle:

f(0)=0 f(12) =140  f(24) =280

j—f(x) vereinfachen - - .12152779887635397159-x2 + 2.91666 /1730324953182 x
X

2
da= f(x) vereinfachen - -.24305559775270794318-x + 2.9166671730324953182

dx2

0

_ 1215277988-x° + 2.91666717-x=0 aufldsen.x -
23.999999990125715994

-.24305559775-x + 2.9166671730 aufldésen,x - 12.

3001

2007

f(x)

1001






